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I ndian Army general duty sample paper

COMMON ENTRANCE EXAMINATION FOR SOLDIER GENERAL DUTY

TIME - 1 HR.

QUESTIONS - 50

ALL QUESTIONS ARE COMPULSORY AND CARRY EQUAL MARKS

The first to have trade relations with
India were the

q Ugd a1 o8I YR & 91y 9ad Ugd
IR = fpar

Dutch / s4

English / gfter=r

Portuguese / gt

French / %

o0 oo

Jesse Owens Global Award is given in
the field of

St Sfta= Teitee SraTS fbw &= # fean
ST 8

Literature / 91fgd

Journalism / TeTRar

Science / faam™

Sports / 9d

o0 o

The rising of the evening star indicates
the

e o Q2w @1 a1 foraeT gue @

a. South Pole / afarof ga

b. North Pole / 33t gd
c. East/qxd

d. West/uigm

Seychelles is located in

A Tl YA 72

a. Pacific Ocean / URIid HEETR

b. Indian ocean / fgg HERITR

c. Atlantic Ocean / 3fcdifc® HEMHNR
d. Mediterranean Sea / HA¢] - 4R

05.

06.

07.

08.

The British Government declared for
the first time that their intention in
India is to gradually establish
responsible government through
foad g1 fafer RoR A vgell IR T8
R} {5 {6 39@T 39 URA | U
PR B RITYAT T 8

The Regulating Act, 1773

The Government of India Act, 1858

The Cripps Proposal, 1942

The August declaration, 1917

o0 oe

The first electric railway was opened in
ggelt fagyd Yo yoel $9 3= §s 47

a. 1929

b. 1905

c. 1853

d. 1885

‘Kathak’ is the shastriya dance of
which area?

BB HEl DT ARAT T 8

a. North India/ 3™ HRd

b. Kerala/oxd

c. - Andhra Pradesh / 3fig Bie®T

d

. Tamil Nadu / afferg

In which year was the ‘All India Radio’
set up

aifer SR YRea P wuro R ad A g
I

1950

1947

1936

1927

o0 o
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09. In India, the first television programme

was broadcast in

YRd # YyH Ao srdepd s yaiig
foar /T um?

a. 1957

b. 1959
c. 1965
d. 1976

10. Who was the successor of Shivaji?
fRrarsft & SfRER B U1

Sambhaji / GHTSt

Sahu-Il /4918- 11

Shivaji-11 / RRrarst - 11

Ramraja / IR

oo ow

11. The practice of ‘Sati’ was declared
illegal by

It YT BT Y Niva U A I fFaa fear  16.

qr1?

Lord Cornwallis / @18 &Tarferd
Lord Bentinck / @Ts dfés®

Lord Dalhousie / @S S@gien
Ram Mohan Roy / I Hig= 34

oo oo

12. The Rowlett Act was passed in
Ade Te’ o UTid forar 1T 4
a. AD 1913
b. AD 1915
c. AD 1917
d. AD 1919

13. The line joining the places located at
the same height from sea level is called
TS A TP U SaTg dTelt S8l & st
Tt 3T T HE AT 82
a. Isobars / SHATI-X@T
b. Longitudes / SRR
c. Latitudes/s&fiar

d. Isopleths/SaIaiy
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14. Which of the following city of India is

15.

17.

18.

famous for trade of diamond

YRa & fFrafifad el # @S9 arweR
TR & R & fore ulrg 87

a. Surat/qd

b. Jaipur / SR

c. Bengaluru / §7Tqg%

d. Mumbai / T8

Which of the following State of India is
the main producer of bauxite?

9 & ¥ YRA $T 7T DI AT I qra18¢
BT Y- SUCP 32

Gujarat / oRTd

Jharkhand / IREUS

Madhya Pradesh / @& ye=1

All of these / T g+t

o o o

Metal of the filament of an electric-bulb
is

o foorelt & aed & fparde &1 urg = gar

Tungsten / @Re
Iron / gt
Nichrome / piH
Carbon / ®1e

o0 o ap

Oxidation displays positive oxidation
state in which of the following stuation?

o & 9 sifeRftevor f5d sawn d

a.

b. N,O
c. NO

d. F,0O

Which metal is used in accumulator
battery?

DI T UTq St & Jaras § wanT foar smar
B

a. Copper / disT

b. Iron/del

c. Lead/ds

d. Zinc/S&
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19. Laws of electrolysis are given by
faggau gea & faw f5as gro fig e
a. Maxwell / Aggaa
b. Faraday / ¥RTS
c. Bohr/d®
d. Lenz/3dw

20. The pH of a neutral solution at 25°C is
fru o 9 SeRi faeas #125°C WR pH.
AT foa= g

oo o

0
1.0
7.0
14

21. The glass used for making laboratory
apparatus is
g & Q U= & IUHR0 991 F fore
T <Y &1 gawTa e iran 22
a. Pyrex glass / graRaq =fi=m
b. Hard glass / R =fi=m

C.
d.

Soft glass / ®aq =f=m
Safety glass / T =f=m

22. The intensity of sound that can damage
the layer of ear is

tafy B a8 o PR 19 & vef o) afa
gudl 87

a.

20 dB

b. 60dB

C.
d.

100 dB
160 dB

23. The nucleus of an atom consists of
TH WU & AfUS B FIT-F1 gl 82

a.

electrons and neutrons/sﬁafﬁ 3R
g

b. electrons and protons/gaiaed 3R Uier

o

protons and neutrons/Mieid 3R g™
All of the above/3uwjad T+t
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24. What is the initial hardening period of
quick cement?
w@fva We @ S o1 raf T gt 82
a. 5s
b. 10 min

C.

5h

d. 5days

25. Alluvial soil is transferred by which of
the following?

o o 9 Sare frg) foad g wu=Eid
gt 2

a.

Air /d1g

b. Water / gt

Cs
d.

Ice / 9%
Gravity / TSyl

26. How is rivet specified?

o 7 9 ¥ Fia Fifde 1 ot 22

a.

By diameter of the hole / &¢ & T4
aRI

b. By length of stick / 3} &t @18 gRT

By width of the top / i &} 9isTE gRT
By the product: length of the stick and
diameter / IATE gRT: TSI BT AT 3R

SRS

27. Washer is used for

fora ¥ @ arER 59 fore va fan siar &

a.
b.
C.

Self-locking / Seh-alfd

Nut locking / 7e @ifd

To get rid of vibrations / %U9 ¥ THRI
g & forg

To blind the fabrication work / f#for
BT Bl THETS B b ey

28. Nuclear sizes are expressed in a unit
named

TRHTY] & ATHR P (7 & A 9 B A
oIS A frad §

a.

o0 T

Fermi / BHf

angstrom / tRerq
newton / e+

tesla / ¢l
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29. The number of moles of solute present

30.

31.

32.

4ono.com 4ono.com 4ono.com 4ono.com

in 1 kg of a solvent is called its

1 fora faemas o divrg fada & @ial @t
ST B FIT A 82

molality / draferct
molarity / AraTRe!
normality / FrHferct
formality / wrHferct

2o o

The spring used in back wheels of the
tractor are

SR & frod & ufedl § 19 4 fBi
ST 53 a2

a. Helical spring / UaeR &0

b. Leaf spring / o f&iT

c. The combination of helical and leaf

springs / U9ER SR uxh fAFg

d. Springs are not used / fBRT S¥qTE 81

fpar Sar g

The CGS unit of charges is

3TAT B CGS SHTS T 8?2

a. Stat coulomb / %< HaE

b. ESU/STEY

c. Both (a) and (b) / @ (a) 3R (b)
d. None of these / 378 I IS g1

The heat required to raise the
temperature of body by 1 K is called

ot avg & AU DY 1 k T ATl ST

DI FTHRI?

. specific heat / fafry amg
thermal capacity / ¥¥ &
water equivalent / O &T sRTeR

o0 oo

None of the above / 578 @ &3 4t 71

4ono.com

4ono.com

4ono.com 4ono.com 4ono.com

33. What is the reason of fast decay of drill-
bit and its incapability to drill the
metal?

afcF o sk et urg ¥ g =
UM &1 HRU 9§ | a1 82

34.

35.

a.

b.

d.

Large clearance angle / S €T Tl ®Iom
Absence of body clearance angle / a%]
& (ABTR DIU1 BT UG

Total absence or shortage of lip

clearance angle/ forg ARl ST o1

SurRfd a1 ot
Large cutting angle/s's &<Td dTdl 10l

What is the full form of ‘LASER’?
AR BT T TH T 82

a.

Linear amplified and simulated energy
radiations / <R TRewmss T8
Rpgacs el AsT=ma

Light amplification by stimulated
emission of radiation / @ge
T eA a8 fegaes ufiRe sife
feTRE

Light amplified by stimulated
emission of radiation / @ige THfifthus
a1 fRgaes uftRe aift euRm
Linearly amplified by stimulated
energy radiations / feFsRel Tmfafthus
18 Reqaies Tl eum

Radio waves of the frequency 30 MHz
to 300 MHz are related to which of the
following

30 @SS | 300 TMEdS @1 It Smghr
a3 e o 9 fpaw ddfta 32

a.

b.

High frequency band / 3= 3mgfai s
Very high frequency band / §gd 3=
NG|

Ultra-high frequency band / 3fdd 3=
mgfa &'

Infra high frequency band / T 3=
Mgy o
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36. Which one of the following is not a 40. P, Q and R can do a piece of work in
prime number? 24, 30 and 40 days respectively. They
fFrafafaa & @ o1 d@ T=n sy e start the work together but R leaves 4
T8 37 days before the completion of the work.
a. 31 In how many days is work done?

b. 61 P, Q 3R R forlt TH &1 H3 T wHRT: Y, 30

c. 71 3R ¥o f& @Ia &1 3 G HTH $1 TP 1Y

d. 91 FEFAE APTRPHITA TN ¥ 2T
UgA $TH BIS ¢l 3 oI d TR I HTH B

37. What least number must be added to B H fobe1 Wy @mdie
1056, so that the sum is completely a. 1ldays
divisible by 23? b. 13 days
204 W IEH DIt H@I fhasit SIS Ft al c. 14 days
R3 | ol &= A faurima g d. 15 days
a. 2
b. 3 41.106%106 -94x94 is equal to
c. 18 106x106 -94x94 frad cRTaw 8
d 21 a. 2004

b. 2400

38. The least prime number of two digit is c. 1904
S1 3T aTell A BT SUTST T=AT HIT 82 d. 1906
a. 12
b. 13 42. The area of a circle is 1386 m2. Find its
c. 11 circumference.

d. 17 T M BT 87 1386 WY 21 gHHT URRY FT
TdT eRg |

39. Which of the following angles a regular a. 444 m
polygon cannot have as the internal b. 70m
angle? c. 19m
freft Fafm sgya F ol A A ag S d 132m
P11 g, oIt SHiafves wior | T8t
grm? 43. A two-digit number is five times the
21352 sum of its digits. If 9 is added to the
b. 140 number, the digit’s interchange. Find
c. 110° the sum of the digits.

d. 160° &Y 37T aTeft U TR 4 AT ST & S &
wEsil & AT, i I J= A § SieT
W, A 98 I HWT T B I5a W €,
I HBT3HT T AN FaTd|
a. 6
b. 7
c. 8
d 9
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Simple interest of Rs.7500, for 8 years
at 6% per annum is

¢ T4 & fIQ €% ufd 9d $t gT A byoo TYTY
BT AYRYT 4TS fha=1m g

a. 2800

b. 3400
c. 3600
d. 4200

A number of two digits is 6 times the
sum of its digits. When the sum of its
digit is added to the number, the

result is 63. What is the number?

& 3T B TP W@, & AT TG 3, S 3T
F ATV, R 9 I 3! BT AT I J-A
R SIST STl 8, A g &3 UT giar g1 ot fora
o | 98 HSI T gRi?

a. 32

b. 42

c. 53

d. 54

A rectangular water tank is 5 m high, 3
m long and 2 m wide. How many liters
of water can it hold?

TP ATAATHR U &1 Tl 5 Hiex S, 3
e ddt 3R 2 ez A1t 31 <t 39w fran
Tt 3T HHaT

a. 15000

b. 25000

c. 30000

d. 35000

Out of an earning of Rs 720, Ram
spends 65%. His saving is

I B HUTS 720 TUY ¢, 3R 98 3° HHTS BT
65% WG9 Bl § | At SP Hd Tad fha-it
ghft?

Rs 252

Rs 316

Rs 350

Rs 390

oo ow
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48. A sum of money at simple interest

doubles in 7 year. It will become

four times in

g fat o= i1 IR o e F WU ST
W R g AR T 81 et B, I i
o el | AR AT g1 ST

a. 18 years

b. 21 years

c. 38 years

d. 90 years

49. A man bought 5 shirts at Rs. 450 each,
4 trousers at Rs 750 each and 12 pairs of

shoes at Rs 750 each. What is the
average expenditure per article?

TS TG 450 TUA B 5 IE @HEaT &
3R o =D P 4 Tz @Hea1 ® ik
VYo TUY & 2R WIS Td WRIGAT &,
TSR A i 9 & @ &1 S d
o & A far gm?

a. Rs678.50

b. Rs 800

c. Rs900

d. Rs 1000

. To make a solid metallic cylinder of

height 45 cm and diameter 4 cm, how
many solid spheres of diameter 6 cm
will be melted?

Pt urg o1 3w Rdsy o R & forg
Rt Harg 45 At ok =y 4 St |,
I forg 6 Y I aret foraa urg & M
4

o 0o w

5
6
7
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Answer Key:

1.(c) v 2.(d) v 3. (b) v 4. (b) v 5. (d) v 6. (a) v 7. (a) v 8.(c) v 9. (b) v 10. (3) v 11. (b) v

12. (d) v 13. (d) v 14. () v 15. (d) v 16. (a) v 17. (d) v 18. (c) v 19. (b) v 20. (c) v 21. (a) v/
22.(d) v 23. (c) v 24. (b) v 25. (b) v 26. (a) v 27. (b) v 28. (3) v 29. (3) v 30. (d) v 31. (c) v
32. (@) v 33. (c) v 34. (c) v 35. (b) v 36. (d) v 37. () v 38. (C) v 39. () v 40. (a) v 41. (b) v

42. (d) v 43. (d) v 44. (c) v 45. (d) v 46. (c) v 47. (a) v 48. (b) v 49. (a) v 50. (b) v

Jai Hind
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